1/STT Meun € . Qo0 |
Ass/ i Exem - 2009 cope: TNH

po"’,’“ " IL BOOKLET N'O. 205641
Yy T T : 200
¥z : 2 (FF) AW WO FT | SfgWTue ==l T TOT : 200

1)

2

G)
&

®)

Q)
7

TR YA T HIOTHT Rt AT e gerdet, AT TOEreT UdaeTRAg STk SHet
'aﬂ'ﬁ I TS, A SFPTEHTER HRawE FUam A8e 9 St et e a e, I

s N ball
e GTTIERRT 200 SIFEE UE SR, SHEANH W we ffevan geena FoArgd a1 g 9
T A T ,

THen-FaE

ST T TR B SR X ﬁaagl;awaﬁ

7 o St fergmn. FHETER HeheTalt

DI AR i G Seiher fafere St SeRarheie I 7 foawr T we.

() =T FeTgRaedIT T W 4 T S gafae ST W 1, 2, 3 #0004 o R e .
N TR ST watg dng SO FEe SUERaT YTl T STRAfher TG HUal ST
R TAITREOR SAGhHI TS M 1 Tl TR ST et Sy Seet Jr s
=T, TR e SRTeAT Vg aferoe arad, YEe o sge i A .

() ST T faETaTSt WA SE o AT fafie horer sne T feaTer welk Wo TSt sieK
TR,

o WA T T TR, ORd §d Uyl Sul dmeid.  OEYe e SO TR A ae ST e

fraer AT YY Wreadd. O TYE TS0 SRR o8 W GgIET W #oi0T Iecdry wal 4@ 7

TR TS A HETR 3.

SRR T TG O I S AR TR, TR R IR g T IR fEeary § qure Som .

w0 ¢ SAEANTY AT agUart oA YA e I Sruivchd e wCA. A

e SRR WIS eieT Ui TR e e IUEET TRt UYATS 0T WA HIvarE Adftet

r e m
A YIRS T fafm Heelt S Hiudd & WgiEehT SR Hiew ST
F TR AT UHEETSt ATRTAT JUaTd I o § Ao WHwa wet Wit
m/ﬁ,mwmmmmmwwammm
I qfATT, q@ Wi el W T ST Rt e WO oA Al I
et ‘ufarimed Fomn TR Wiy e ftE-82 ' A SETE
AT TEAR ST TAATAN AR FAH AT 9 S SRl HHIe Tk A
RIS ST/ foar S8 U o Whae S3Tet forgd anst 2Eet.

T @ IRt fafia dherel o Turarsel & wTTgRaant Srfighuut SieTol 8 T

gt goarar g el sag 79 |



2

T TATAGT ST / SPACE FOR ROUGH WORK



TNH 3

e e T ST T fren SArs Uree B, @ TG T T s auren el s
T T IS 7 i ?

1) 2059 (2) 1599 (3) 1259 (@ 109

Five years ago, Rama’s mother was five times more than Rama in age. After ten years

Rama will be half of her mother’s age. Then what is Rama’s present age ?
(1) 20 vears (2) 15 years (3} 12 years (4) 10 years

diRr TR AR T e S STR, ekt e et qur dRean SR R 6 ddid Ter
0 ?

(1) g (2) drw (3) Hal 4) T

If Sourabh is younger than Raju but elder than Seema. Ketaki is elder than Seema but
younger than Sourabh then who is the youngest ?

(1} Seema (2} Sourabh (3) Ketaki 4) Raju
T D 7L S0 a2

(1) ™ wH (2) W

(3) =g (4) wU=

Who is the Chairperson of Gram Sabha ?
(1) Village Development Officer (2) Speaker
3) B.D.O. (4) Sarpanch

(1) wie TERE 2) g fem

(3) S A (4) S ewet

Who is called father of Local Self Government in India ?

(1) Lord Dalhousie (2) Lord Ripan

(3) Lord Mountbatan (4) Lord Wellestey

b FAR oA G 71 39 Toeginsd fSe qftsg T,

(1) TR o Y5 (2) =M & g

(3) WU 9 HEW (4) Y3 R 9 Hag ITR

Both and districts have no Zilla Parishad in Maharashtra.
(1) Akola and Dhule (2) Vashim and Nandurbar

(3) Parbhani and Bhandara (4) Mumbai Shahar and Mumbai upnagar
TR YR g o w fewidEn L,

(1) TR (2) HurgeTh (3) Teeeimr (@) T
Book is to publisher as film is to :

(1) Writer (2) Editor (3) Director (4) Producer

HocHT HTATARY | / SPACE FOR ROUGH WORK
P.T.O.
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7. Wi dgEet I U foadia frdendie fvmem favafassa Huifeeg ¥,
(1) s 2) e (3) wRewm (4) TR
Sachin Tendulkar made double century in one day cricket against country.
(1) Srilanka (2) South Africa (3) TPakistan (4) England
8. ORI wEA’ @ e wvi v el ?
(1) 3. g AW (2) TR Fo
(3) dfem wEE (0 wfgRas oo
Who founded the ‘Sharda Sadan’ ?
(1} Chha. Shahu Maharaj (2) Mahatma Phule
(3) Pandita Ramabai (4) Savitribai Phule
9. TGN ST 0T V15 AT N e g g et o GRS qoad e ?
SM(_ . _) Ring
(1) ART (2) OKE (3) ile (4) ear
Which word in the blank place will complete the first word and will be prefix of the
second ?
SM(___) Ring
(1) ART (2) OKE (3) ile (4) ear
10. T < o o Faae ars Temerd B3 R ?
(1) feoet () Y (3) smER (4) TEE
Where is the Head Office of National Children and Youth films centre ? .
(1) Delhi (2) Mumbai (3) Bangalore (4) Hyderabad
11. TH HTHfA® 980 ‘KABIR' & W& XVIXXVIXXVXVIIIX, 3/ fafee, ‘SANT @ w2
VIIXXVIXIIVII 378 fafEe & ‘DOHA’ &1 Wt &4 fererer ?
(1) XXIIXIIXIXXXVI (2) IVXVVINI
(3) IVXXIVIVXXI (4)  XXIIXIIXVIX
If in a code language "KABIR’ is written as XVIXXVIXXVXVIIIX, ‘SANT is written as
VIIXXVIXIIVII then how ‘DOHA’ will be written ?
(1)  XXIIXIIXIXXXVI (2) IVXVVII
(3)  TVXXIVIVXXI (4)  XXIIXTIXVIX
12,

I Heaell SraR B o Y geata S 9] g ?

(1) ¥ AER (2) HUEER 3) TR (4) TER
Monday fell on 5" September, then which day was on 15t September ?
(1) Monday (2) Tuesday (3) Wednesday (4) Thursday

HoA! FTHETE ST / SPACE FOR ROUGH WORK
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13. T Wiwfeh 989 FAIR=34 31 fafest anftn SAFE=31, 38 foifest 38 =2
(1) GOOD (2) WISE (3) WAY (4) KIND
In a code language FAIR is written as 34 and SAFE is written as 31, what does 38
denotes ?
(1) GOOD (2) WISE (3) WAY (4) KIND
14. w1 Ufeem e widi= T8 Jee i et ?
1) e SR aefan
@) Tori=t SaREwa afan
@) w0 (1) q (2)
(4) FOEIE RIVRRT TR
What was the main aim of first Green Revolution of India ?
(1) To increase the production of crops
(2) To increase the productivity of crops
(3) Both (1) and (2) above
(4) None of the above
15. SRETEE footedn Sadre! Wiqe SREaui 93 Shiori 2

Which alternative shows image of the figure shown along with mirror ?

oAl THIMIATS ST / SPACE FOR ROUGH WORK
P.T.O.
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16.
(1) =gedes (2) EHh (3) weEm (4) FEaw
Using cumulative frequency curve one cannot obtain :
(1) Quartiles (2) Percentiles (3) Median (4) Mode
17. el el AR € fafre wam e omd. @ %9 e fanar smh o 4 iy fom
XC UF RI OL LO ?
(1) RI (2) IR {3y FU (4) UF
There is a certain sequence of group of letters in the following series. Find out the sequence
and complete the series with the correct alternative.
XC UF RI OL LO ?
(1} RI (2) IR (3) FU (4y UF
18. TS gX FvArRiiar M foram wvren deeiin AR Feea s ?
(1) ufeelt d=anfis demm (2) foud daanfis amm
(3) <ol deanfien Ao (4) wEE vgaie Hrer
Since which five year plan a serious effort to tackle the problem of poverty was began ?
(1)  First Five Year Plan (2)  Third Five Year Plan
(3) Fourth Five Year Plan (4) Sixth Five Year Plan
19. faemuie T sTferatsia HIveT U SR YN 3 e
(1) UYL (2) 9EY W
(3) It F (4) el oY
Which tax gives more income in the economy of developing country ?
(1) Indirect tax (2) Direct tax
(3) Agricultural tax (4) None of these
20. SR WUEM AOEE 100° AR 9@ W a9 $eEeasd i ?

(1) 100° ®{erRe (2) 212° GBI

(3) 210° e (4)  32° HREe

If temperature of water is 100° Celsius, then how much will be it in Fahrenheit ?
(1)  100° Fahrenheit (2) 212° Fahrenheit

(3) 210° Fahrenheit (4) 32° Fahrenheit

HoAT RIFHTS I / SPACE FOR ROUGH WORK
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21,  HEe E Fia faarde, el arh fresfan st Bl dewia @ areferin e
Set=n ety He ame ?
(1) i, Berem frem anfr R
(2) Tarar, TR 7 S fihsH
(3) i, sl anfor e v
(4) T, ST fiRsT amfin ARt

Triveni cow developed by Mahatma Phule Krishi Vidvapeeth, Rahuri is a triple cross of
which of the following cow breeds ?
(1) Jersey, Holstein Friesian and Gir

{2) Khillar, Gir and Holstein Friesian
(3) Dangi, Jersey and Holstein Friesian
(4) Jersey, Holstein Friesian and Tharparkar
22, HEID T H WleK (CHAUHTHIE] WIeTerdeh] hivrl THrEiTe vard fiereds v g ?
(1) HrEEm SR (2) WEEE e
(3) WIEH FARNES (4) 9ER
Which chemical is used as a preservative for preservation of fruit juice and squashes ?
(1) Sodium benzoet (2) Citric acid
(3) Sodium chloride (4) Sugar

23, WX =4R=3WF +6=7

(1 3 (2) 6 3 7 4 8
IfX =4 R=3thenF +6="7"
1 5 (2) 6 3 7 4) 8

24, TEIO! GG SRfa o ?
X @88:)( - ;88&

O @ [ 3 » (4)

Which is the odd figure in following sequence ?

X - - X
Ol 2) (3) y @

25, TEM A AU &I HI0E ?
(1) CAT (2) RAT 3y SIT (4) MAT
Which of the following letter groups is not similar to others ?
(1) CAT (2) RAT (3) SIT (4) MAT

e TS AT / SPACE FOR ROUGH WORK
P.1T.0.
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26. T 2004 - 2005 HEY HENILM STeT@red o R & B
(1) 7412 (2) 54.12 (3) 34.12 4) 1412
The area under forest was Lakh ha in Maharashtra during 2004 - 2005.
{1y 7412 (2 54.12 (3) 3412 4y 14.12
27, 'QUMSET MHRSH ASH R TR HI0E TR Toaelt e 2
(1) $H T
(2) o foepm e
(3) TI=Ees fawmg waEd
(4) o wEEE
By which ministry “Pradhanmantri Gram-Sadak Yojana” is implemented ?
(1) Ministry for Agriculture
(2} Ministry for Rural Development
(3) Ministry for Human-Resources Development
(4}  Ministry for Finance
28, hEI W Aoe=Tardr Wil STt Teeasaasr dae saar e S e ?
(1) TR - FRw (2) WHIEH, w
(3) TEEE, sfuwew (4) S, HEwRw
Central marine fisheries Research Institute (CMFRI) located at :
(1) Bhubaneshwar, Orissa (2) Cochin, Kerala
(3) Hyderabad, A.P. (4) Bhopal, M.P.
29, ‘Hed YEEA’ € Hehed  WeH S R wised ?
(1) =Fm 1a gy (2) SEHTE Hed Q)
(3) IS Wea i (4) T T, fHust wfid
Which committee was first to introduce a concept “Mandal Panchayat” ?
(1) V.K.R. V. Rao committee (2) Balwantray Mehta committee
(3) Ashok Mehta Committee (4) L. M. Singhvi committee .
30. & foRzomi= vty SR e ?
(1) IRES (2) HEFTREA (¢) ¥ SR (4) TS
Who discovered X rays ?
(1) Orsted (2) CEinstein (3) Henry Becquerel {4) Rontgen

ol SHTHAR S / SPACE FOR ROUGH WORK
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31. Ve ‘Safae gamRl’ wur foen v are e del ® gE o ?
(1) BT elE e (2) YR AR T
(3) TR FEAVITE T2 (4) = TeRiTATE
In the ‘Individual Satyagraha’ Vinoba Bhave was chosen as the first Satyagrahi. Who
was the second ?
(1) Dr. Rajendra Prasad (2) Pandit Jawaharlal Nehru
(3) Sardar Vallabhbhai Patel (4) C. Rajgopalachari

32, SRUS G A1 U Y P I8 7

(1) HEyaran FEgd 9T (2)  TFE SR B

(3) T HRE! (4) ol SHoaE Ak

What is the main objective of eleventh (11'") Five Year Plan ?

(1) Efficient use of resources (2) Rural employment guarantee
(3) Food security (4) None of the above

33. WHfE-ar=a ST A 11 fam

75 300 25
7 3600 300
225 900 75
(1) 900 (2) 150 (3) 7200 (4) 1800
What is correct option in the place of question-mark ?
75 300 25
? 3600 300
225 900 75
(1) 900 (2) 150 (3) 7200 (4y 1800

34. WR'GH’ B 187072 ‘78’ 3191 | ‘ST’ & 318712 ‘87" 3T TRfen 3fur 1. ~ 0, 318a T Hivd 3181
‘B S1eTr=1 a1 ?
1 w 2 V (3) R 4 P
If "GH’ is denoted as ‘78', ‘51" as ‘87" and L = 0, then which alphabet will be equal in
value to ‘B’ ?
1 w ) Vv (3) R 4 P

35. S 99 oAl aFrE Wive S, T a9l ST 9 e 94 €Y gie at S
T = et ?
(1) 30 (2) 40 (3y 50 (4) 60
Father’s age is four times his son’s age. After ten years father's age will be two and half
times that of son’s age. What is the age of father today ?

(1) 30 (2) 40 (3) 50 (4) 60

ol THIAMTE SR / SPACE FOR ROUGH WORK
P.T.O.
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36. IS YRR e SRR el Sl W HR %Y ?
(1) e TR BRI I 9§ HIS TAHH
(2) TR NI el gars
(3) e TR BN a9 gamH
(4) TS TR T o A FRS TEHH
What is the reason for taking Ambe-Bahar in pomegranate ?
(1) Hot and dry climate at fruit setting
(2) Rainy weather at Flower setting
(3) Very cold weather at fruit setting
(4) Cold and dry weather at fruit setting
37. S MUMBAI & M21M2A9, 31 fafedt & Delhi & %8 ferra ?
(1) D1l4i (2) D5I8i (3) 4el2hs (4) D3l5i
If MUMBALI is written as M21M2A9, then how Delhi will be written ?
(1) D1l4i ' (2) D518 (3) 4e12h9 (4) D351
38. TWEYS FuiE R o T A ST TYEE ST
(1) @\ () = 3) =W @) &
The Sarpanch must convey maximum meetings of the Gram Sabha in a year.
(1) two (2) three (3) four (4) six
39, MG HLHRA R’ 2 A | =1 e SSvATEt Hieen .
(1) i e (2)  sitg Wit
(3) U wE (4) TR e
Indian government has announced to re-name 'NREGA’ with the name
(1) Indira Gandhi (2} Rajiv Gandhi
(3) Pandit Nehru (4) Mahatma Gandhi
40. TR Hag A 26 Fod 2005 TS 24 qE[ . R, e qsd We.
(1) 994 (2) 884 (3) 894 (4) 948
On July 26, 2005 Mumbeai received m.m. of rainfall in 24 hours by a cloudburst.
(1) 994 (2) 884 (3) 894 (4) 948
41, W4 v Yol B ST Ay IR ?
R___,T___D___,K___,V___
(1) AIL (2) ENT (3) OCK (4) EAR
Which alternative will make all words meaningful ?
R___,T___,D___K___,V___
(1) AIL (2) ENT (3) OCK (4) EAR

HET HTATHIS! AT / SPACE FOR ROUGH WORK



TNH 11
42, farom ST e e SN 37 STEer YA v ?
E|H! K| N|*
7 10|13 (16| *
P R T Q
ST @ 3 3 % ST
Which is the correct alternative of missing letter and number in the following ?
E|H| K| N|*
7 11013 |16} *
P R T Q
) 35 @ 3 @ % @ T
43, uitHTEl ®US g Hid,
(1) Sferen FeiiEarers AR S Tt
(2) oo geaReTen AREToe T AT
(3) el AT BErE
(4) AT THE AR
An ecological system is a region in which
(1) Leaving organism interact with their environment
(2) Leaving organism does not interact with environment
(3) Leaving organism vanishes
{4) None of these
44. _® R g Feeu ST sTed.
(1) =.ug, °9ud (2) -afE e
(3) fe =een (4) e frerhont
is the Chief Election Commissioner of India.
(1) V.S Sampat (2) Navanit Shaha
(3) Navin Chawala (4) Nandan Nilkeni
45, SR'CUP ¥ WIeg WiHfieh 1a ‘6 - 24 - 197 37 fafeat, T TOWER' I WesTaE! 41wl Wishfh

TG HIvwE 7 ;

(1) 23-18-26-8-21 ‘ (2) 23-18-20-7-21
(3) 23-18-17-4-21 (4) 23-18-20-6-21
If ‘CUP is coded as ‘6 - 24 - 19’ supply appropriate number code for TOWER' :
(1) 23-18-26-8-21 (2) 23-18-20-7-21
(3) 23-18-17-4-21 (4) 23-18-20-6-21

el MRS AN / SPACE FOR ROUGH WORK
' P.T.O.
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46. @ fores oitwest wafa weweret afid @2
(1) T el
(2) U e HigE
(3) UM Gfirdt
(4) T i
is the most important committee of Zilla Parishad.
(1) Standing committee
(2) Social Welfare committee
(3) Building and Construction committee
(4) Health Committee
47. HHF THIATS T A0 9 favm deaish 0w 39 o W @weh Tt den w2
1 17 2) 23 @) 29 4 31
Sum of three serially alternate odd numbers is 39, which is the largest number of them ?
M 17 ) 23 (@) 29 4) 31
48. IRATSA T YU Rl To8p s SRt saTaeten ot ?
(1 20% ) 30% (3) 50% (4) 10%
Out of the total land in India, what percent area is covered by mountains ?
(1) 20% (2 30% (3) 50% (4) 10%
49. HeAmEd 2 9R[ 5 e welt ata. e 3 faftewe 9=t deciete Ferw fadt g ?

(1) 1 = 10 ffe (2) 2315 fafre
(3) 249 10 fafe (@) 59rE 2 fafe

It is 2 Hours 5 minutes in the clock. If the hour's hand and minute’s hand are exchanged,
what time will the clock show ?

(1) 1 Hour 10 minutes (2) 2 Hours 15 minutes

(3) 2 Hours 10 minutes : (4) 5 Hours 2 minutes

FHoedT HIATHTS! WM / SPACE FOR ROUGH WORK
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50. @i TUi, 1988 TR, WRETdE FTE vROHed e wawr f.f. wed A feeeh e
RS e ()
LCH 2000
fewtt 1040
He™ 1710
b 950
FIvET A T A EifeIed et TEY WEErs 30% e ?
M q% () feee (3) T (4) TR
The following data represents the rainfall in m.m. of some cities in India, in 1988.
City Rainfall (in m.m.) '
Mumbai 2000
Delhi 1040
Madras 1710
Nagpur 950
Name the city, in which rainfall is 30% of the total rainfall of above mentioned cities.
(1) Mumbai (2) Delhi (3) Madras (4) Nagpur
51. AT U s W Sl v YRR Hed ?
(1) doEEE () T WA @) e (4) TeTEE
The structure of India’s public finance falls in which of the following type ?
(1) Federal (2) Unitary (3) Deficit (4) State
52. I SRSITRY et HT0E HEE HIO ?
(1) =ifaRERT () TS FH |
(3) @Y (4) TS M
Which is the solution for reducing unemployment problems in agriculture ?
(1) Mechanization (2) Big Agro-based business
(3) Small business {4) Bigbusiness
53. FIUE HEHT TSI SvorE A snfii fEr A = e ?

(1) =IH 130 (2) hTIH 148 (3) heH 266 (2) (4) e 155 (2)
In which act of budget reference named as ‘Annual Financial Statement’ ?
(1) Act 130 (2) Act 148 (3) Act 266 (2) (4) Act 155 (2)

Tl THIAMTS AN / SPACE FOR ROUGH WORK
P.T.O.
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54. HITE WA HEET (W) B v At HN wera,
(1) o Hy
(2) HUEREE AR T
(3) AW Aefaee Srowd T
(4)  HIUERR YR FHelel FIvEE oRidt
The term “programme” in Computer Science refers to -
(1) a set of instructions
(2)  the internal design of computer
(3)  Any information stored in memory
(4) Any information processed by computer
55. T &1 TgHten S I [ @ foren gorm o, Aot @ ferftareh qerit o, 3 fariar ot =g
M. T AR & guiaE wor?
(1) =& (2) wEEt
(3) 3TN (4) HEE S
Rashmi is sister of Ramesh. Sushant is son of Rashmi. Vani is daughter Vinita. Vinita is
sister of Ramesh. How is Vani related to Sushant ?
(1) Paternal sister (2) Maternal Aunt
(3) Paternal Aunt (4) Maternal Sister
56. O QUIEIRYA 39 fawol Teom A see we fam FR
(1) SO S Al ST =eTa Scherieg FHl ST,
(2) SR ST S AN BT Seherag HH 3Rl
(3) AU T19 sl HTEAM FRTe Ieherfag S arl.
(4) SISO S ST ST ST SEher g, SR SE.
People living at high altitude drink boiling tea because :
(1)  boiling point of tea is low due to low atmospheric pressure
(2)  boiling point of tea is low due to high atmospheric pressure
(3)  boiling point of tea is high due to low atmospheric pressure
(4)  boiling point of tea is high due to high atmospheric pressure
57. WRAM HEIFTHH& (Comptroller General) 301 Terowan ffters e T T a7l §d

TR TR W 3@l i el TR, s Teh Tearen o Well gordm
e ?

(1) o= (2) i

(3) STEUTER FeN 4) T

Comptroller and Auditor General of India is entrusted with maintaining the accounts of
all except one state governments. Which is the state that is not included ?

(1) Sikkim . (2) Goa

(3)  Arunachal Pradesh (4) Mizoram

FoAT RIS ST / SPACE FOR ROUGH WORK



TNH 15

58.

ITMONDAY 1159371, 3181 fafeen HUMBLE 1048260 3r@1 fetfee anfor BIRTH 213179519,
sra1 Fefeen o8 NOBILITY & ¥t e farfgan siga ?
(1) 114813906 (2) 952136151 (3) 9481713104 (4) 615113259

If MONDAY is written as 1159371, HUMBLE as 1048260 and Birth as 213179519, how
the word NOBILITY will be written ?

(1) 114813906 (2) 952136151 (3) 9481713104 (4) 615113259
59. ST T S WIEe FROTIE SO HET T

(1) AR el rSrsi (2) TS AHEEH TE

(3) ded TS I 4) T weaE! HEat

Which is not a cause of increasing prices of food grains ?

(1) Hoarding by traders (2) Increasing population

(3) Increasing per capita Income (4) Less stock of stored food grain
60. WREE Tort A s Snfi e e e B

(1) RS T8 g (2) SRA Sw T

(3) WA e 4) ereiEsR

Currency notes in India are printed and supplied by :

(1)  Security Press Mumbai (2) Security press, Nashik

(3) Reserve Bank of India (4) Finance Minister
61. <F e IO 1 2 oM. A weha 7 el FTER T T 3 : 5 AL W HI e

HIOR.

1 24 (2) 26 (3) 28 4) 32

Two numbers are in ratio 1 : 2 if 7 is added in both the numbers then their ratio changes
to 3 : 5, find the greatest number.

(1) 24 2) 26 (3) 28 (4) 32

62.

T e ot e dreaeR HISTereT SOSHTE €2 Tedsh Ty g frerdt & e Histered!
AT TAAT AT S ST, Are 31 ST

(1) PR (AT intermittent) SIS <1 SR TR,

(2)  TrHOT SRS TR ST STR,

(3) TR FUSTIRI WIed SR e,

@) el S el S IR

A higher rate of unemployment on current daily status approach as compared to usual
principal status approach in India means that, there is :

(1) a high rate of intermittent unemployment

(2) a high level of rural unemployment

(3) a high level of cyclical unemployment

(4) a high level of urban unemployment

FHeT HIUTATH AFT / SPACE FOR ROUGH WORK
P.T.O.
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63. mmmmmmwﬁmwwmm?
1 | (2) el (3) wmh 4) 7T

Which of the following type of fish breed is not suitable for cultivating in Inland
pisciculture ?

(1)  Rohu (2) Katla (3) Shazk (4) Mrigal

64. T30e0 wHaR Oigy .

() T TR U (i) W& Twfaar=h amRE
(il) FRHISET Wiy ITAR (iv) HSitas T el FeER s
(v) HTSIeR HeTEER el (vi) e Frpfermai TR T

(vii) T FASTIEA SR s

M v @O @) ) @) () (v
(@) G i) &) 6 @) ) G
B) @) ) () (i) (v) (i) ()
@ @ @) (v @) @ (@) )
Arrange observations sequentially :

()  Children reach puberty before time
(if) Plant growers are devastated

(ii) Hormonal treatment of plants

(iv)  Fruits grown using hormones are banned.
(v) Plants show no fruition

(vi) More profit to plant growers

(vii) More fruits per plant

(M &) ) @) G) @) v (vi)
@ @) i) @) 0 @) v G
@) @) ) (i) (i) @) @) @
@) ) @) @) @ @ (i) (v

65. TRASREAT SR HIvRT &R geia ?
AZYB, CXWD, EVUF, GTSH, ?
(1) BYXC (2) DWVE {3) FUTG (4) 1RQJ
Which letter should be written is place of question mark ?
AZYB, CXWD, EVUF, GTSH, ?
(1) BYXC (2) DWVE (3) FUTG (4) IRQJ

el TS AT / SPACE FOR ROUGE WORK
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ST SR s 97 = e ufieds S T e,
(1)  T9dr giqumar e
(2) T wEen s i md
(3) dagwe S A
(4) fagu st e fasa
inaugurated 97th Annual Session of Indian Science Congress.
(1) President, Pratibhatai Patil
(2) National Congress President Soniya Gandhi

(3) Prime Minister Dr. Manmohan Singh
(4) Education Minister Kapil Sibbal

67. 2005 — 2006 TE THIT HATA TEME WA (infra structure) 0 s la angfavaraR
el HRHA-FHEod oA et ?
(1) & ff @) T I SR e
(3) Hqol s SREE @) o wEd T
Which programme was launched in 2005 - 2006 for developing rural infra structure and
basic amenities ?
(1) Bharat Nirman (2) National Rural Health Mission
(3) Total Sanitation Campaign (4) None of the above
68. UHUIS SGfifeR IOl HIUM 2
(1) ot e e
(2) SfEnfRIRT
(3) wEmdE IR W
(4) aTIHY UHE TR
Which is the natural cause of pollution ?
(1) A forest fire or volcanic eruption
(2) Industrilisation
(3) Human concentrated in thickly populated urban centres
(4) None of these
69. T 1980 T ford) Siepia TSSIAHTT FHIe ?
(1) 10 (2) 6 . (3) 15 (4y 20
How many commercial banks were Nationalized in 1980 ?
(1) 10 2 o6 3y 15 4 20

THesl HIATETS AT / SPACE FOR ROUGH WORK
P.T.O.
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ummmfmmﬁmmaﬁ:mm@mmmm
¥l ?

(1) 15 (2) 16 3y 17 (4) 18

Thirty ove girls stand in a row. Leena is fifteenth from left side. Then what will be the
Leena’s number when counted from the right side of the row ?

(1) 15 2) 16 (3) 17 (4) 18
71. S PLAN = 43, WDOG = ?
1y 26 (2) 62 (3) 34 4y 23
If PLAN = 43, then DOG = ?
{1y 26 (2) 62 (3) 34 4) 23
72, AT ST F0ATET ST R AR ?
(1) Foesfusr (2) FE TR
(3) Tawria smgsa (4) T UWTR
Who is empowered to establish Gram Panchayats ?
(1)  Collector (2)  Ceniral Government
(3) Divisional Officer (4) State Government
73. 9 - 8000, & U - 10000 =1 HerRiToRren Hfddarie AR A I | 1L 1
SeeTd el S,
(1) =1 TgATY "SRt (2) Sl fasg wea
(3) 3. 3w e (4) €l g MariE
A key person quoted in the development of Param - 8000 and Param - 10000 super
computersis ____ . .
(1)  Dr. Raghunath Mashelkar (2) Dr. Vijay Bhatkar
(3) Dr. Arun Nigavekar (4) Dr. Vasant Govarikar
74. Pl A1 ToRel TERMEN 2008 < ¢ WRNTE FEA' FRaE N fwen oy
(1) <=Zer T (2) eem fmfm
(3)  wEETE 9 (4) oE v
Who won the “Maharashtra Kesari” title in the Wesstling event in 2008 ?
(1) Chandrahar Patil (2) Chandrahas Nimgire
(3)  Babalal Shekh (4) Ravindra Patil
75. 2010 % 94 PR T gt N TRUF TR S0 et ST,
(1y Hfgen (2) TAEERY HEmW
(3) AT Safafgua (4) <EvmarR fadsh
The year 2010 is declared as the year of ___ by UNO.
{1)  Women Year (2)  Environment Protection

(3)  International Bio-diversity (4)  Against terrorism

AT SRTHTEE S / SPACE FOR ROUGH WORK
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76. VRATSA ST Focll SRqaHe § THid Faig Hiet sufty Hewn= =t 9e 377 ?
(1) o fan () w1 W I 9 U e
(3) = (4) TR I
Which product category constitutes the single most largest and important category of
imports in India ?

(1) oilseeds (2) crude oil and petroleum products
(3) pulses (4) electronic equipments

77.  SRERA fAa ARG 9gE  dEEd sedl 4.
(1) =N Fg (2) SEdRd

(3)  Uen Y T AEARD H™ @) wa-faa ( aded)

Mode of the frequency distribution can be obtained fromthe .
(1) firequency polygon {(2) histogram

{3) less than ogive (4) pie-diagram

78. AfehS Hacl YW T WNarsH i qet &% e ?

(1) erfern 2) T (3) AT (4) @R
Of late which region has been a major destination for India’s exports ?
(1) Asia (2) Europe (3) America (4 Africa

79. WEATERr W IR HEA A 2
40, 80, 140, 220, ?
(1) 208 (2y 302 (3y 230 4y 320
Which number will come in place of question mark ?
40, 80, 140, 220, ?

(1) 208 (2) 302 (3y 230 (4) 320
80. W 'Yuffis Ay’ (e w9) waid afys EOREC

(1) g (2)

(3) el (4) WE-T™

In India ‘natural gas’ is largely produced at ,

(1) Digboi (2) Nazira

(3) Koyali (4} Mumbai Hight

81. fagma e feaE

(1) 3,96,15 (2) 6 812,30 (3) 9 16,12, 45 (4) 12, 36, 24, 60
Find out odd group from the following,.
(1) 3,96, 15 (2) 6,812, 30 (3) 9 16,12, 45 4y 12, 36, 24, 60

THET HIHES ST / SPACE FOR ROUGH WORK
P.T.O.
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o TR e S
(1)  w=nfieF TR T 2) T I
(3) % wEA (4) TR WA
impart training in democratic citizenship.
(1)  Local self government (2) State government
(3) Union government (4) TFederal government

83.

A X A F X 7 75% TSA TAW (enrolment ratio) I MBVANEE TRA TEHTHT
HEHIFH HIOT A A 2009 YR FEaT AR Al A2

(1) T faan sifyEm

(2) U wreAthE fan ofgm
(3) WM TN fepan sifieH
(4) ot wd

Which is the centrally sponsored scheme launched in March 2009 to achieve the objective
of 75% enrolment ratio for class IX and X ?

(1)  Education for All (Sarva Shiksha Abhiyan) campaign

(2)  National Middle School Campaign (Rashtriya Madhyamik Shiksha Abhiyan)
{(3) Each one - Teach one campaign

(4)  All the above

84.

GEeTdet ot Tad! faveren 2008 =0 56 =1 AL Fosve JOrR u R fiam ?
(1) Ty (2) EftwEgrE daed
(3) Fe (4) S

Which of the following Marathi Cinema won five awards in 56t National Cinema Award,
2008 ?

(1) Gandh (2) Harishchandra’s Factory
(3) Zenda (4) Jogva

85.

2010 A1 9] Tk SaT st FEHAN B T o1 Aufd TRV {HAR et I 2
(1) 51 (2) 52 (3) 53 (4) 54

1% January falls on Friday in the year 2010 then what will be the total number of Fridays
in that whole year ?

(1) 51 @2) 52 @) 53 @) 54

FoAT HTHIEE I / SPACE FOR ROUGH WORK
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FERA TS

(1) Foreign Exchange Regulatlon Act.

(2) Foreign Exchange Random Advertisement.
(3) Foreign Era Regulation Act.

(4) AR FOE TR

FERA means

(1) Foreign Exchange Regulatlon Act.

(2) Foreign Exchange Random Advertisement.
(3) Foreign Era Regulation Act.

(4) None of above.

g7. arciete Sy faeara TS A% SaUaTS ST HSIEHEIT e ?

(1) R (2) iR (3) TErg (4) foggd

Which one of the following district has largest number of leather-goods manufacturing

industries ?

(1) Kolhapur (2) Sangli (3) Solapur (4) Sindhudurg
88. AT 2001 =1 SFIVATUR AIEEEEd Heregr=l hHlh T,

(1) 37T (2) 4= (3) 21T 4) 5=

As per 2001 census of India population wise Maharashtra ranks .

(1) 3rd (2) 4th (3) ond (4) 5th
89. Z = 52 3 ACT = 48 T BAT SRR fiell ?

() 39 (2 41 (3) 44 (4) 46

If Z = 52 and ACT = 48 then BAT will be equal to .

(1) 39 (2) 41 (3) 44 (4) 46
90, vAfaRr=n SR Ay AaR e

X T O

2 -, =7

C'G L’

M K I Z

M 5 @ 5 3) 2 @ 3

Select proper letters in the place of question-mark.

X T 0,

C ’ G r L r "

M K 1 Z
M Q @ v ©® R @ 3

FooAT HIHTE 90T / SPACE FOR ROUGH WORK
P.T.O.
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T RGN STa1 9T MRS et U9 seae 2.

(1) " g (2) UHFIWE Y
(3) A el (4) 9HIg HEwAT
is the first National President of Bhartiva Janata Party from the State of
Maharashtra.
(1) Gopinath Munde (2) Eknathrac Khadse
(3) Nitin Gadkari (4} Pramod Mahajan
92. TH HTHE 2 FuA THT TH  F1edes T Wefier Terand ool a1, SeRar=n 19T 554

T Tl TR TE e TeEre fndt we B ¥ for,

4

140 -

120 - 100

E 100 1 TEHT TH
. 80 1

d 60

g Zg 40 e T

20 -

120

2002 2007
Cil

(1 2= (2) 23w (3) 2292 (4) 25T
The Gross profit and net profit of a company for 2 years is represented in the following
diagram. Study the diagram and estimate the ratio of total gross profit in 2 years to the
total net profit.

A

140 |

120 - 120

100

vy
[
[

Gross Profit

60
40 Net Profit

Profit in Rs.
(o 3~
Lo B

B
[aw]

[
[we

2002 2007
Years

(1) 2 times (2) 2.3 times (3) 2.2 times (4) 2.5 times

THAT RS F / SPACE FOR ROUGH WORK
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93. vyHfa=eren St 4 waiE e
7 13 21 .2

3
5720511047

31 37 63 31
ST @ 1 G 178 @ 1
Choose right alternative in place of question-mark.

3.7 .13 21 7
5'20°51" 104" ?
5 3 n 5 5 a L
0 16 2 Tz 3 178 @) s

94. T FidE 20% YR duata wrEE I oo YA A R, 25% T fed-de=er,
10% Tt Aedifarses, 15% A SARTAERE T 5% Tellf TS Hwa AR SR
A Frfeea Q. St s el qEie HIvR 3R ST Steeret T S qeE 9el 20
%.mWW,WWWﬁWWm%WWW%?
(1) 16, 20,12 (2) 25, 40, 12 (3 10,20, 15 (4) 20,12, 16
20% girls in a class have decided to take higher education in Medical field, 25% in
Information-Technology, 10% in Agriculture, 15% in Engineering and 5% in

Administration. If the number of girls who have not decided any goal is 20, how many
girls are wishing to learn in Medical, L.T. and Engineering respectively ?

Q) 16, 20,12 (2) 25,40, 12 (3) 10, 20, 15 4) 20,12, 16

95. THHEE! faERE "IN HA ?
(1) T EEEH AUl TEHS " (2) FEHETH AR T TE
() FHEN THAAA T (4) TEH T TR
What is meant by population explosion ?
(1) Decreasing population exponentially (2} Growing population exponentially
(3) Population remains constant (4) None of these

96. RAE Tatd ois ey PO ?

(1) T (2) 4%

(3) FEM ' (4) TeER
Which is the longest river of India ?

(1} Ganga (Ganges) (2) Yamuna
(3) Krishna (4) Godavari

S HITARY ST / SPACE FOR ROUGH WORK
P.T.O.
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w

N
Ef

W

o0

W

(8]

o8]

~J

ﬁ;!

o

N

=Y
E

D

2
(1) 63 (2) 68 (3) 88 (4) 36

98.

TS AV widl uiag o7

1) W (2) W=+

3) fue (4) ="

Melghat Sanctuary is famous for

(1) Black Buck (2) Great Indian Bustard
(3) Lion (4) Tiger

99.

Wt dendier st < R 2

(1) - wree fesfao

(2) VT¥Ed TR S REETN SdRA 37 3o fiefi)
(3) AT W a5 A S T firefey,

(4) TR A A e Tt

Which is the Final aim of Agriculture ?

(1) To get more and more profit

(2} To get more sustainable production and income

(3) To get more profit by deducting production cost
{4)  No profit no loss basis production

100.

2009 ¥ THEA WEAIE et TR 0 IREH Tos S8 SR wrerg .

(1) WHL.S. mo (2) Bl AwTHT IR

@ = emd A (4) Ef wE dEEE

In 2009, Chemistry Nobel laureate American Scientist of Indian origin is

(1)  Sir C. V. Raman ‘ (2) Dr. Venkatraman Ramkrishnan
(3) Dr. Amarte Sen (4) Dr. 5. Chandrashekhar

101.

W T HEm e § Hay A 9 T e S R gt am i o ?

352:598::742:7

(1) 1269 (2) 956 (3) 472 (4) 988

If the relation between first pair exists in second pair also then which is the correct
alternative to replace question mark

352:598::742: 7
(1) 1269 (2) 956 (3) 472 (4) 988

FH=T HIATRIS AT / SPACE FOR ROUGH WORK
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ATATEYeT ST SErHed STehEeT™ | (Non-Performing Assets) WHIO SIEd rgeaTs i

TEerteh! I e ?

(1) ¥= JEa - TEE g

(2) T wigeel @i (capital adequacy) SHITT

(3) Fore dnfrk TRE (statutory liquidity) WA

(@) et T T

High prevalance of Non—performing Assets in the banking sector in India has resulted in
which of the following consequences ?

(1) High cash reserve ratio

(2) Lower capital adequacy ratio

(3) Lower statutory liquidity ratio
(4) None of the above

103, TS T Fftfelt wroren ot Al ?

(1) 191950 (2) 1H1955 (3) 17H1960 (4) 191965

In which year the state of Maharashtra was formed ?

(1) It May 1950  (2) I¢* May 1955 (3) Ist May 1960  (4) I May 1965
104. 27 feaamE Emar 2. v foree fearelt o & e ?

(1) FHaR ) THIAR @) ¥HrER (4) TEER

Before ten days it was Friday. After tomorrow on third day, what will be the day ?

(1) Wednesday (2) Friday (3) Monday (4) Thursday
105. ETCIEYsh! VT STorERT=! e e ?

(1) HEHNTH (2) WIEH (3) UET (4) wHEA

Which of the following is not computer language ?

(1) IBM (2) FORTRAN (3) PASCAL (4) COBOL
106, ehare i Hsvars T 3T,

(1) fepel Hiex (2) fereimm 3) g (4) feRt =

Unit of measurement of intensity of earthquake is :

(1) Kilometer (2) Kilogram (3) Newton (4) Richter scale
107, WeAsREre SR Aa FEA HIowd 2

10(75)5, 7(40)3, 9(65)4, 6(?)2

(1) 50 2y 25 (3) 32 (4) 24

What is right number in place of question-mark ?
10(75)5, 7(40)3, 9(65)4, 6(7)2
{1y 50 (2) 25 (3) 32 ’ 4y 24

ool HTATARS W / SPACE FOR ROUGH WORK
P.T.O.
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108. Grilel W1 TR fordTa weg o) ?

Cry, Try, dry, Pry :

1) Cry (2) Try (@) dry ) Pry
Which is the odd word in the group ?

Cry, Try, dry, Pry :

(1) Cry @ Try (3) dry 4) Pry

109.

(eIt ) ot (IeTeaet) aRwamT SRR e W 3o S (afieaon) <Hrow 2
(1) w fafre wmemed o () s o aif.

(2) mmammwmmwmmwm.

(3) wammﬁawﬁﬂﬁmﬁamaﬂmwmﬁﬁaﬁﬁémﬁ

@) 0w, |

What are the commonly accepted criteria of sustainability of debt ?

(1)  Debt should be zero at a specified period

(2) The Debt-GDP ratio at a future point of time should be reduced as compared to
current ratio

(3) The Debt to GDP ratio for the future may be fixed at today’s ratio
(4)  All the above

110.

Qe IV YR SOTHTA ‘e’ A ?

(1) 9 R =7 (2) TR ®RRE
(3) RS WA (4) T =ERY
Which is not the kind of virus in a computer ?

(1) Boot sector virus (2) Cluster virus
(3) Filevirus (4) Scan virus

111,

FHERA TR x - S@ES e IXiad.
(1)  werh s (2) = sty

(3) =iy (4) @i

For the frequency polygon the value of an X-axis represents .
(1) Lower class boundary (2)  Upper class boundary

(3) Class mark (4) Class width

el HUTAIE 90T / SPACE FOR ROUGH WORK
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112, Erelel SerErT A e g 3 fetdt,

—

30001 220

2500 | 2500

2000 | 3@1

1500 1

1000 - 1000

500 1 500
1975 1976 1977 1978 1979—|
-76 —77 -78 —79 —80

g4

1975-76 3 1979-80 T Iewrad fonelt Zamar A A ?

1)

2500 2) 6

3) 7 (4) 83.33

Study the following diagram carefully and answer the question.

Production

500

S0,

3000 1 3000

2500 + 2500

2000 2000

1500

1000 4 1000

500 A
1975 1976 1977 1978 1979
~-76 -—-77 -78 -79 ~
Year

What is the percentage of decrease in production from 1975-76 to 1979-80 ?

(1)

2500 @) 6

3 7 (4) 83.33

113, e S R S T Sreies ST HeHid (o WY e e o) e R ?

(1)
(3)

proticicinut iy
T Y F BATH

2)
(4)

ATEHHT & QAT
T ud

The share of which two taxes has increased as a proportion to Gross Domestic product ?

(1)
(3)

Direct Tax and Indirect Tax

Direct Tax and Service Tax

@
(4)

Indirect Tax and Service Tax
All of the above

el TIATETS |01 / SPACE FOR ROUGH WORK

P.T.O.
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114. wmwmwmmmaﬂaﬂmmgﬁwmﬁmm

TeedTs SR SRiten S0 SUHTor aTRe e ?
(1) Eiel gt s

(2) YSteh gEtn Sy

(3) ™R 3= ve1 Ehell gedts

(4) T HIRY TEHw

Which is the world’s most powerful instrument in its range, situated at Narayangaon
near Pune, used to study of extragalactic radio sources and interplanetary objects ?

(1)  Radio Telescope array
(2) Radio Telescope observatory

) Giant Metre wave radio telescope
(4) Hubble Space Telescope

115.

WWWWWWW@WW?
(1) TEieiE| (2) TEEMEfREE (3) s A 4) fmsR

Which disease is transmitted by Culex mosquito in mershy lands of water resource
project ?

(1) Giardiasis (2) Trichomoniasis (3) Filariasis (4) Yellow fever

116. ' ' T I+t fafe.
(1) FEen Bl 2) TR G
(3) wASa ®R (4) IvET T
The drama “Tritiya Ratna’ is written by .
(1) Mahatma Phule (2) Narayan Lokhande
(3) Dhananjay Keer {4) Yashwant Phule
117. Jefe=re st A wafa g,
8EF:17GH ::?:25 MN
1) 12KL () 12LK (3 177 (4) 17 0P

Find the appropriate value at the intrrogation ?
8EF:17GH ::?:25 MN
(1) 12 KL 2) 121K @) 171 (4 17 OP

T RIS AT / SPACE FOR ROUGH WORK
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mm,mwﬁm,ﬁamﬂmﬁmﬁammﬁwwmﬁwrﬁ
‘qrte W' | qend! W’ E e,

(1) TSR T AR MAHars

(2)  wier T FeAmORE Tedy

(3) IR TATI TG HEH

(4) sTfecaEr g

Along with Primary, secondary, higher and vocational education had started
‘Patil School’ and “Talathi School’ for the proper administration of the village.

(1) Raje Sayajirao Gaikwad of Baroda

(2) Raje Chintamanrao Patwardhan of Sangli
(3) Chhatrapati Shahu Maharaja of Kolhapur
(4) Ahilyabai Holkar

119.

@aﬁﬁmnﬁwﬁaﬁﬁﬂmﬁ?ﬁaﬁaaﬁmmmm%ﬂmug
fFmior grear e aEE fan seerRh 9 3 g R A A g HE FEH § TR A
ﬁﬁ%m.mnw—m%aﬁmq@ﬂﬁaﬁwmﬁm@
Wwﬁaﬁ@naﬂaﬂmﬁ%wwﬁﬁm%&mﬂa
TRERUAE T ¥ e e 90° T T, i arevard ifaw fen w2

1 9w (2) <& (3) =EA (4) T

Once in year the regular South-West Monsoon winds following in their usual direction
suddenly change their direction as a low pressure belt was formed in Bay of Bengal. Again,
when they reached Madhya Pradesh, a low pressure belt was formed on coast of Gujrat
and the changed their direction and flow in direction of Gujrat. But due to some atmospheric
changes they changed their direction through 90 degree to right before they reached Gujrat.
What was their direction of flowing ?

(1) East (2) South (3) South-West (4} North

120.

I T e ufEd ofeifre dw et snfeR %9 ?

(1) 6 TfUe 1948 (2) 2 HE 1948

(3) 15 WId 1948 (4) 10 ATH 1948

When does the Indian Government declared its first Industrial policy ?
(1) 6 April 1948 (2) 2 March 1948

(3) 15 March 1948 (4) 10 March 1948

HoAT HIHTETS! ST / SPACE FOR ROUGH WORK
P.T.O.
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121. H@muﬁmmﬁﬁﬁ?ﬁwmoemmﬁwamwﬁ?@m@mmmaﬁ

2008 - 2009 T = A ) e B 2

(U 200 foeg (2) =& gpfor faek

(3) 330 foc® (4) = U= FoE

The National Rural Employment Guarantee Scheme was introduced in the year 2006 in

some backward districts of the country. What was the coverage of the scheme by
2008 - 2009 ?

{1) 200 districts (2) Al Rural Districts
(3) 330 districts {(4)  None of the above

122,

@WWWWWWW%‘EQ@WH HYTH A ToSTaD
(1) 40345 (2) 25730 (3) 45750 (4) 10720
It is estimated that about ____ percent of the Agril produce goes on waste on

account of inadequate post harvest management, information technologies and
infrastructural facilities. '

(1) 40 to 45 2) 25to 30 (3) 45 to 50 (4) 10to 20

123. §7 1907 = LA YA W guelt e wror smmer 8 2

(1) F. e (2)  wrEnE FRrsh

(3) A foam (4) AN AAGTRH

Who was responsible for the partition of Congress irt 1907 at Surat Assembly ?
(1) G K. Gokhale (2)  Dadabhai Nauroji

(3) Lokmanya Tilak (4) lala Lajpatrai

124.

— A HERT 2010 T TR e’ srersmE s e omd,

(1) TIE aig (2) TR AR

3) T (4) ToH R

Who was appointed as President of ‘Prasar Bharati’ in 2010 by Central Government ?
{1)  Mrunal Pande (2} Mallika Sarabhai

(3) Meera Xumar (4)  Najma Heptulla

125. 9I9e9 TYHYA ARSI i e,

(1) =l ySTeE e () . ¥ el s

(3) S B (4) SlELHTL sTdEE
The People’s Education Society was founded by :

(1) Dr. Panjabrac Deshmukh (2)  Dr. Bhau - Daji Lad
{3} Jyotiba Phule (4) Dr. B. R. Ambedkar

oA HTATHTS AT / SPACE FOR ROUGH WORK
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126. T Gishlae WA “serial’ & 955 "R2Q31K 3141 ferfedrd @ ‘secondary’ w0 fafea a&a 2
(1) R2C5MC1QX  (2) R24MBICXQ (3) R2B4MCIQX (4) R24BCMXQl
In a code language ‘serial’ is written as ‘R2Q31K’. Then how will ‘secondary’ be
written ?
(1) R2C5MCIQX  (2) R24MBICXQ  (3) R2BAMCIQX (4) R24BCMXQ1

127. ‘ToE 9gA' & Tedw win fawg 4o el B ?

1y fe (2) TERl (3) ST (4) I
Against whom the ‘Salawa Judum’ movement was launched ?
(1) LTTE (2) Naxalites (3) Al-Queida (4) ULFA

128. T FE H ) e, TR e e et I ST 399 FHR <9 ?
BaATE, 18 Aniedel GeTg, 18 Au@rd Yo, fafay HRUMe Ye Bed e Walg,

Select the diagram which best represents the relationship between the members of the
groups, players, players below 18 years, players above 18 years and players not playing

now due to various reasons.

—_—

129. <Y,
21 + 34 = 37
54 + 63 = 99
31 + 18 = 49
@M,
43 + 52 =7
1)y 75 2y 77 (3 79 (4)y 94
If,
21 + 34 = 37
54 + 63 = 99
31 + 18 = 49
then,
43 + 52 =7
(1) 75 2y 77 (3) 79 (4) 94

el IS A / SPACE FOR ROUGH WORK
P.T.O.
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130. mmm“wmﬁm“mmwmmaﬁwwm

el W o7 ?
(1) 317 nfersw (2) TIAR WM
(3) AU 3T (4) T g=0

The first Indian to get three Oscar nominations for his Music in British-Indian Movies
“Slumdog Millinaire” ?

(1)  Anu Malik (2)  A.R. Rehman

(3) Kalyanji Anandji (4) Nadeem Shyavan
131. el st uT e ufeen YR Ser TE i 2

(1) fowEs @R (2) ofisa TSa

(3) afysig adte (4) ivsha Sega

Who is the first Indian Swimmer qualified for the Beijing Olympic ?

(1) Veerdhaval Khade (2}  Abhijit Raut

(3)  Abhijit Patil (4y  Abhijjit Deshmukh
132. 9 WHR forelt v fosptendt i el enerem R e a2

1) 24 (2) 18 (3) 12 4) 6

For how many major crops, the Government of India announces the minimum support
price ?

(1) 24 ) 18 G) 12 @ 6

133.

THT Hishlad A ‘37" U “which class” ST 583’ WU “caste and class” TT ‘caste’ WISt
IV 2 AT TR ?
(1) 3 2) 7 (3) 8 (4) 5fE3

In a certain code ‘37 means “which class” and ‘583" means “caste and class”. What is the
code for ‘caste’ ?

1 3 @ 7 @) 8 (4) either 5 or 3

ool SHTATES AR / SPACE FOR ROUGH WORK



TNH 33
134. WgAtE=erR wrh dra gatg e

? 3 (8 X
2581 183

09 XX 2
o 038 o %4 e o X

Select proper alternative in place of question-mark ?

2 318 [X
2852 |52

09 28] 2
o BI8 o 825 o o X

135. Waﬁa‘ﬁﬁWRUNHWSVOWWHHHT’STOP’%IWWWW@H?

(1) RUPQ (2) TVPQ (3) TUPQ (4) TUQR
In a code language RUN is written as SVO. Then how will ‘STOP’ be written ?
(1) RUPQ (2) TVPQ (3) TUPQ (4) TUQR

136. A HOERE TEArEeereA ST o 3 AgA 2

7,16, 29, 46, ?

(1) 61 (2) 63 3y 65 (4) 67
What will be the number in place of question-mark in following series ?

7, 16, 29, 46, ?

(1) 61 (2) 63 (3) 65 (4) 67

SHeoeHT RIS AT / SPACE FOR ROUGH WORK
P.T.O.
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137. mwmmmﬁmww;m-mm;

(1) «ifEg - 5 wfaue (2) wRIEEE i

(3) s - IR g (4) FHIE widme

First Five Year Plan was formulated as per the economi- model of :
(1) Lewis Fie model (2) Mahalanobis model
{3) Harrod - Domar model (4) Keynesian model

138.

AT qRATAT 328 TRAY BRI Ao derdet gy & S g afty
e 2 s e AR,

(1) 185 20 THL (2) 175 TS TR (3) 135 VI TN (4) 125 <IN oY

Out of 328 M ha of our geographical area of India about __area is subjected to
soil erosion and kind of land degradation.
(1) 185 M ha (2) 175 M ha (3) 135M ha {4) 125M ha
139. SUETA AFHSHIS IFE ‘T8 (Ad) HIvwd ?
(1) e - TR (2) e TR
(3) STIRME T (4 fo=w o
Which soil is best for cotton cultivation ?
(1) Black - Regur Soil (2) Red Soil
(3) Sandy Soil 4) Clay Soil
140. TR W 2004 - 2005 Well W1 Foemraeh TR gt & BN
(1) 509 (2) 1009 (3) 1509 (4) 2009
The area under rice crop in Maharashtra was _ thousand hectares during the
year 2004 - 2005.
(1) 509 (2) 1009 (3) 1509 (4) 2009
141, AT IR GeEIfE TN A1 X 75 T T arhrors @ a2

(1) ¥remn (2) &R (3) === (4) <E=

In which five year plan of India the target was to increzse the literacy rate upto 75 per
cent ?

(1) Seventh (2) Eighth (3) Nineth (4) Tenth -

HeAT FHWTETE FOT / SPACE FOR ROUGH WORK
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142, YAFET=AT ST 10! & J8a ?

ST\ Ol <3y B>
&5 65 SR R

(1) 16 (2) 26 (3) (4) 36

What number will be in the place of question-mark ?

& i Bk

(1) 16 (2) 26 (3) 18 (4) 36
143, AT I W0

formm ;o g ?

(1) mft (2) W (3) @ (4) ¥R

Find the correct answer :

Aeroplane : Kite : ; Submarine : ?

(1) Water {2) Fish (3) Air {4) Sea

144.

Y N I TR FHvare redid FSgfastr et F TE SR S $Hom
TR S ?

(1) e sifErs (2) el AteEe

(3) TIHTERE (4) A IS

Which chemical is increasingly used for sterilization of milk and of containers for food
products ?

(1) ethylene oxide (2) propylene oxide
(3) formaldehyde (4) H,O, (hydrogen peroxide)
145. 1857 =91 IS a1 a4l 4= I ' quye s’ ot Fi e,
1) W ew 2y fag. e
(3) TS (4) TSRS
referred Tatya Tope as “Parabhut Shivaji” in the revolt of 1857.
(1) Grant Duff (2) V. D. Savarkar
(3) Justice-Ranade (4) G. G. Agarkar

ol THTATHTS AT / SPACE FOR ROUGH WORK
P.T.O.
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146. VST Tl W@ F67 <A U ) Teuet, “aria@ama%wwww

HeiT= W 378, "' q S o1 qeeni A w5 2
(1) qI-asa @) b9 -
(3) U - AEH (4) WET - v

Introducing a neighbouring person, a woman said, “his father is father-in-law of the
only daughter of my father”, what's the relation of that woman with the person ?

(1} Daughter-in-law — Father-in-law {2) Mother-in-law — Son-in-law
(3) Husband — Wife (4) Sister — Brother
147. 2010 vl Afgeri= Afeeta R et oiw wef EREET
(1) fe&T9 facag (2) He faearg
(3) oF Hi== (4) Wk féfg
Who won the Australian open women’s single title in 2010 ?
(I} Venus Williams (2) Serena Williams
(3) Ana Kurnikova (4} Martina Hingis
148. 0 Wi wqar=n gftad-ret fomra St ?
(1) TrsH Hit (2) TRGR it
(3) <& dfiE (4) STEIRR T Wi
Which of the following committee recommended the conversion of Rupee ?
(1) Rangarajan commitice (2) Tarapore comumittee
(3) Tandon committee (4) Ashok Mehta committee
149. GEAE Tifeshd Tefegr= S F0 a3 ?
A B, D,GK?
1y O 2 P 3 Q {4} N
Which should be the letter at the place of question mark in the following series ?
A B D G K? .
1 © 2 P (3 Q 4 N
150. Fr= demmym snfor St T e v v faine fEwnt dewdr g seemE

TERt tHA AT e g v,
(1) st (2y fEm (3) VA (4) UER 9

Drainage area and land surface from which runoff from precipitation reach a particular
point and collected at the common outlet called as :

(1) Bunding (2) Terracing (3) Farrn pond (4) Water shed

ol SHTHTEIS AT / SPACE FOR ROUGH WORK
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151. SU'INDIA' BV 5-9-4-14-3-4-2-9-1-1. a1 Tafeen 9 ‘GATE €1 V=< %41 fafgen

e 7

) 4-7-3-1-2-20-1-5 (2 7-5-1-4-19-3-5-2

3) 5-1-4-5-3-7-2-5 4 7-1-5-4-3-19-2-5

If ‘INDIA’ is written as 5 -9 -4 -14-3-4-2-9-1~-1. How the word "GATE’ will be
written ?

) 4-7-3-1-2-20-1-5 () 7-5-1-4-19-3-5-2

(3) 5-1-4-5-3-7-2-5 4y 7-1-5-4-3-19-2-5

152. THTHE SCAEETF A fIs TR FARE! FI0R He 97w ?
(1) =l Turp faaer fHeE
2) e= fago faw@
@) Ffen ikt e fqema
(4) T ST Tghy BIS ST
Which is the institution for spreading education among minorities in society ?
(1) Dr. Radhakrishnan Education Mission
(2) Nehru Education development
(3) Indira Gandhi Education development
(4) Maulana Azad Education Foundation

153. SATEIEE HEU HE HEAE ?
(1) ST e Ser gResl
(2) SR W
(@) =0 A (1) T (2)
() SR T ESAE] A 9 e T8

What are the causes of inflation ?

(1) Increase of money supply in market
(2) Fall in production

(3) Both (1) and (2) above

(4)

4) Decrease in money supply and increase in production

154, TS mWiyw ey fam SRR wemEd TR

(1) 2007 - 2010 (2) 2006 - 2011 (3) 2003 - 2008 (4) 2005 - 2012
Duration of “National Rural Health Mission Programme” is .
(1} 2007 - 2010 (2) 2006 - 2011 (3) 2003 - 2008 (4) 2005 - 2012

el HIHWTS! AT / SPACE FOR ROUGH WORK
P.T.O.
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155, ATTh okl SUIEATT TS ST SR HIveel & e A= SR THoE 39 Se7e ah 2
(1) T TEES (2) TER EHATTEET
(3) “TEH RS (4) fadm
Which is the major by-product of fossil fuel combustion for green house gas, in Thermal
power generation ?
(1) CO, (Carbon dioxide) (2) SO, (Sulphur dioxide)
{3) N,O (Nitrous oxide) (4) CH, (Methane)
156. Tefawm stfusrarEl fag womTRa 2 2
(1) WER TRy STET (2) HEE AEGE 3
(3) =AU (4) ° (IS AR
Who selects Block Development Officer (BDQ) ?
(1) MPSC (2) UPSC
(3) Governer (4) State Election Commissioner
157, Ha3 g Hive gl sereaernrl Rt 1] Fel ?
(1) < T (2) TE, U7
(3) wm fam (4) TEE
Whose appointment is cancelled as Director General of Police by Mumbai High Court ?
{1y ] D. Virkar (2)  A.N. Roy
(3) Prakash Singh (4) Pasricha
158, Wmifaen sraffefeh awft & 2
(1) wrESaErta SHA 83 (76%) (2) TYETET BRI (17%)
(3) TEIITE (7%) (4) o Tx gd
Where does the World's food come from ?
(1) Croplands {(76%) (2) Range lands (17%)
(3) Fisheries (7%) (4) All of these
159. SIS 40 IV Fral aieered 3T 2
(1y (2) e (3) e (4)
On which river ‘Jaikwadi dam’ is constructed ?
(1) Tapi (2) Godavari (3) Krishna {4) Koyna
160. AfeSg A A WS HIven Ay e rehtad Hell ?

(1) weE (2) st (3) == (4) el
In which dialect of Marathi did Machhindra Kambli popularised his plays ?
(1) Malavani {2) Ahirani (3) Varhadi (4) Varali

oAl THIATETS ST / SPACE FOR ROUGH WORK
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161.

39

m!

3x3=96
6x5=1512
8x4=1216

W I HHAHL 3x9="2

a 27 (2) 627 (3) 276 4) 762

If,

3x3=96

6x5=1512

8x4=1216

Then, as per same notion 3X9="7

1y 27 2y 627 (3 276 4y 762

162.

fay 1. WGW SEEE fawme e HE.

faur 2. SeTe R0 ITE WIaT STIEE ST IR,
Wrelterdeh! s Frerd 9 e ?

(1) TaeF 1 R o1e & faum 2 9% IR

() foum 2 SR e | faur 1 9% o1,

@) Tur 19 2 A ste oRgH fagm 2 3 fam 19 e o
(4) TauH 19 2 3R TR oy faum 1 ¢ faum 2 2 o o,

Statement 1 :  There is population explosion in India.

Staternent 2 :  India has failed to control birthrate.

Which of the following conclusions is correct ?

(1) Statement 1 is correct and statement 2 is wrong

(2) Statement 2 is correct and statement 1 is wrong

(3) Statements 1 and 2 both are correct and statement 2 is an explanation of
statement 1

(4) Statements 1 and 2 both are correct and statement 1 is an explanation of
statement 2

163.

fogma faderr ol — AW ¥ T SIAEER HiE ISRIH <9 IR,

(1) Twrewmos o TEEE Td AT AL

(2) UL IYELAD T 48% a8 72% T

(3) e WIEIE Wl IR WHr

(4) THU TG GHIYMIE TG0 Jad

Identify odd indicator — Bhutan is a responsible carbon neutral nation.
(1) Pesticides and chemical fertilizers are not allowed

(2) Proportion of national park area is increased from 48% to 72%
(3) Priority for mining industry for economic development
(4) Priority for increasing Gross National Happiness Quotient

wocAl SHIMTHTS AT / SPACE FOR ROUGH WORK
P.T.O.
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T8 ST = RuvargEr  esen HEel FHEreT TR weid Wi sefsmaen w

= At  3TE.
(1) dediae snafi| (2) Hriferr iR smafig
(3) IS 3UIfd (4) ATIE TRE TE

World development report states that “ Today’s most technologically advanced economies
are truely _"

(1) Agriculture based (2) Geographical based
(3) Knowledge based {4) None of these
165. S(EATE HIU! S W0 TR HOAWEIS! ARG et 37,
(1) =™ (2) HE 3) =+« (@) T
Which variety of mango is recommended for preparing pickles ?
(1) Alfanso {2) Kesar {3) Karel (4) Ratna
166. =i It famramed B anftn Sigmees sihwei=n sifdiml arRIges o gitomy € ?
(1) 79 HEET (2) ST T (3) ArLEE (4) T
What is the effect of excessive use of Fertilizers and insecticides in modern cultivation ?
(1) Soil pollution  (2) Water pollution (3) Air pollution  (4) Soil erosion
167. S (25" *4=1 30 T ‘v’ = ferwd feredl ?
1
(1) 1 2y 0 (3) —4 4) 4
If (25)" *4=1 then, what is value of 'n’ ?
1
b 3 2 0 (3 -4 4 1
168. TR ST FOR AFER T ?
= S
! ?
o =B
B u H 2 @
2 O 3 4 *
® to2 © S @ Tl
= ® & O =
B2 1l B B I 2 M|
1 L 2 @) 3 | ] 4 ®
@ toe ) t e ) t s ® T

FHoAT HIATETS TR / SPACE FOR ROUGH WORK
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169. mawmmmwwmwwmmm

TR wior afton 2 ?
(1) Temed M Baw (2) HUTER
(3) T TR BT (4) THUEHET AU Bl

What is the effect of Air pollutant NO, released from automobiles and electric power
industry and vehicular exhaust ?

(1) Brain Tumour (2) Dysphasia

(3) Skin cancer {4) Lung cancer

170.

I T P WG S T 40000 A W T FZIH WA, FHRU WS T FarEE TE
fordl T T & Wrele Sepdr SFaeRd wE foE. agenic TS HARHS i Sl

EEK|

|

@ — fepon
TS — "A.‘
—ds
l

PE|L

(1) % 35000 (2) % 30000 (3) ¥ 25000 (4) % 20000

If the monthly income of a family is Rs. 40000, calculate the total amount spent by that
family on House Rent, Grocery and Transport using the Pie-Chart given below. Figures
in circle are angles measured in degrees.

Savings
qa Grocery
House Rent — .‘:v
+«— Electricity
I
Transport
(1) Rs. 35000 (2) Rs. 30000 (3) Rs. 25000 (4) Rs. 20000

FHoAT WA AT / SPACE FOR ROUGH WORK
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171, S (+) IS (), (x) TR (=), (~) WO (+) 38 & 52 Fergisy 379 wmm v,
(B+3)x(4-2) = ?
(1 22 (2) 18 (3) 14 4y 12
If symbol (+) stands for multiplication ( ), multiplication ( x } stands for subtraction ()
and subtraction (—) stands for addition (+) and meanings of other symbols remain same
then
(8+3)x(4-2) = ?
1y 22 (2) 18 3y 14 4) 12
172, wAf=mgrean st A v e,
1 4 3 6 5 8 7 ... 10
5 9 13 ?
2 3 4 5 6 7 8 "9
(1y 34 (2} 25 (3) 08 4 17
Select correct option in the place of question mark.
1 4 3 6 5 8 7 10
5 9 13 ? |
2 3 4 5 6 7 g8 79
(1) 34 (2)y 25 (3) 08 4y 17
173. Srraden fadTa weg Hivw ?
PEPMIL, GIDONI, CABLK, THEWI
(1) PEPMIL (2) GIDONI (3) CABLK (4) THEWI
Which is the odd word of the following ?
PEPMIL, GIDONI, CABLK, THEWI
(1) PEPMIL (2)  GIDONI (3) CABLK (4) THEWI
174, GG %M FIM (caption) & HWIA % gofm 7
(1) 3H s (2) Y HE
(3) N iHR (4) =N =
What does the term ‘caption’ represent in the statistical table ?
(1) Row Title (2) Column Title
(3) Table Title (4) Source of Information
175. 1 eiehEe Yiee Afean wunfy €.
1)y fosa-ash 9da (2) WA g
(3) e e (4) i AR
_ is the first Woman speaker of Lok Sabha.
(1) Vijaya-Laxmi Pandit (2)  Sarojini Naidu
(3) Indira Gandhi (4) Meera Kumari

e ShTHTATS! ST / SPACE FOR ROUGH WORK
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176.

43
YRS S AU 2787 I ?
aaaa, aa?b, aab?, abb?
() b,ab (2) aba (3) abb (4) b.ba

Which letters would come at question mark ?
aaaa, aa?b, aab?, abb?

(), bab (2) a/ba (3) abb (4} b,ba
177. =i Qe ifae TEeT HvmRgA T Fel S

(1) dauume @) FrieA Hee

(3) TreZudr @) Y fawE Hew

Who approves the Final draft of Five-Year Plans ?

(1) Prime Minister (23 Planning Commission

(3) President (4) National Development Council
178. WRATSA] SETA T o] A R IR

(1) 1997 - 2000 (2) 2002 - 2007 (3) 2005 - 2010 (4) 2000 - 2005
The tenure of 10th five Year Plan of Indiais __ .
(1Y 1997 - 2000 (2) 2002 - 2007 (3) 2005 - 2010 (4} 2000 - 2005

179.

0T Wraa <A THIYRH FTamolt FvaTaTe) ard STeied! g T whtdra 2 3o of 9 Frersvs
Fodl AT

(1) fesan (2y =0 (3) oA (4) HER
From which fruit juice the marking ink is prepared and used at the time of election ?
(1) Biba (2) Cherry (3) Aovola (4) Karawand

180.

s7aFereT Tforara e o1 ferel wren 3 e famra fres) snfn wanef fagrs forass 1o firsmt
4

Al % wAfus 1 o 0 THEA I T, ST dEE fauaien o w72 aHe W
Tl feraia e 1o ferdt ?
(1) 80, 60, 76 (2) 60, 45, 85 (3) 78, 54, 65 (4) 64, 48, 61

The marks obtained by Akshay in physics are 3 th of the marks that he obtained in
4

-

o
maths and marks obtained in Chemistry are 1 plus Zth of the marks he obtained in

physics. If the average marks of all three subjects are 72 how many marks did he obtained
in all three subjects ?

(1) 80, 60, 76 (2) 60, 45, 83 (3) 78, 54, 65 4) 64, 48, 61

THoAT SIS AT / SPACE FOR ROUGH WORK
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SUBAT Q V # 3TN fal, “YEAR @[V A 3w fa=i+i anfor ‘CUT + (5 % san et
gEifael ST STHdd T 'BEAUTY’ & YIS H1 STl TRel ¥

(1) oVE*@r] 2 CORSOI*®

B OVEeEEE 4 OOVEI XSG

If ‘BAT is denoted by © V % symbols, YEAR by & [J V A symbols and ‘CUT’ by
-+ [c] % symbols then how ‘BEAUTY’ will be written ?

I ovExer] () oEOOwN®

B) EVANEO @ oOvEx®-:
182. HNTUIGA 4 SICUATIET ShIVIT SAi=a 9= YA e STt ?

(1) IS (2) =TEERR (3) el (4) farer

For extracting fish oil which variety of fish is mostly used ?

(1) Kolambi (2) Vaghli (3) Bangada (4) Jitada
183. TR ToAM Heget fam frdt amea ?

(1) 6 (2) 4 3 3 4 7

How rany revenue regions are there in Maharashtra ?

1) 6 2y 4 (3) 3 4) 7
184, Ry faATENTIIHN WESTH w9 T¥e WL So=r=al fhd! 29% 29 o) @y fuiia

FA 7
(1 60% (2) 55% (3) 48% (4) 50%

What was the target kept for Debt as a percentage of GDP by the Eleventh Finance
Commission ?

1) 60% (2) 55% (3) 48% ) 50%

185.

Tt W fapren sl s fo dde

100 =20 15 3

() +,x 2y x, + (3) =, x 4 x, +
Which symbols will be in the blank spaces of following ecuation ?

100 =20__15 3

(h +,x (2) x, =+ (3) =+, x 4 x,+
186. rdiiet it fmma Sl v

1y 1-0 (2) 3-8 (3) 6-35 (4) 7-50

Choose the odd numeral pair in the following question,

(1y 1-0 2y 3-8 3y 6-35 (4) 7-50

FHoAT HIHTITE! FRT / SPACE FOR ROUGH WORK
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187. Geia Hemmren gof 4 ¢

3 15 35 63 ?

(1y 96 (2) 97 (3) 99 (4) 100

Complete the following series ?

3 15 35 63 ?
(

1) 96 2) 97 @) 99 4) 100

188. VT Efashidt Hior S fupnTs) waifus e g ?

(1) g wftn Figes (2) g 0 Faees

(3) T v WA (4) T awftn e

In which two crops ‘the Green Revolution” was succeeded in India ?

(1) Wheat and Rice (2) Ground nut and custard apple
(3) Pigeon pea and Soyabean (4) Pomegranate and Banana

189. TIE 2009 =0 o TH=n wWONTER IRAW AU HefEvam g HHiee e

T 2.
(1) T (2) Yo
(3) WeAweH (4) SWEE
As per the survey report in 2009, of Reserve Bank State is number one in
India, in attracting investment.
(1) Maharashtra (2) Punjab
(3) Madhya Pradesh (4) Uttar Pradesh

190. T STUTHTET YaiE! v W <T@ HHH AR ?

153 345 435 534
(1) 6!6!7 (2) 7’9'6 (3) 9’7’6 (4) 6’7’9
Which one of the following set of fractions is an ascending order ?

453 345 435 534
M 557 @ 797% G 57% ® 5775

191. fafay fasmen fEam suryg fEmdt (T e ) SaaiT Tewnl Siowt o foamm SR

W ?
(1) dTedt SFEE 2) Fawien fmda TwgETm
(3) YT VRIS (4) Swrg SeEEEEt S TRum

While deciding the minimum support price (MSP) of different crops which factor is mostly
considered ?

{1) Increasing population (2) Equal prices of crops

(3) Available market (4) Effect on economy of country

FoAT FHIATETS FI / SPACE FOR ROUGH WORK
P.T.O.
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192. pr4fdier aoarEt ae HSTEETEl S SaERen ST ?

(1) ‘U (2) SRR (3) gL (4) TTEHERY

For measurement of ground water depth which instrument is used ?

(1) Hygrometer (2) Animometer (3) Pizometer (4) Lysimeter
193. ™ B Fidt 9= ¥ fepq wogme anifor REIEIRIGICIE I

(1) o 3nfo s (2) I enfy T

(3) st sufon (4) = i g

and crops contributed major the mainstay of the green revolution

over the years in India.

(1) Rice and Bajra (2) Rice and Wheat

(3) Sorghum and Wheat (4) Maize and Wheat

194.

B S SRR Aeaeeft (3R], SRR SRFTER) T Soamia st yeaay
S VAT TR FHTORRAT THRF S Som sifi 2n,
(1) e iR HER (2)  TH e
(3) SUERHE (4) T guUROT e

measures to abolish intermediatory interests in land (Viz. Zamindars, Jagirdars)
and transfer of land to actual tillers of soil were expected to be taken upon a priority basis.
(1) Right to information act (2) Land management
(3) Curative - (4) Land reforms act

195.

9 = I AT Fleald FERZ T SNk Qo= Tt 9@t o2 e g ?
(1) 7.3% 2y -0.2% 3) 87% (4) 4.8%
What was the average growth rate of industrial sector during 9th plan period for

‘Maharashtra ?

(1) 7.3% (2) —0.2% (3) 8.7% (4) 4.8%
196. Iite Al SengERHe] SnfdithgRed 4 WS HRO 4 ¥ 1 UM TR
ETGIRE)
(1) FaRo (2) SRR WA gwee T
(3) dif® (4)  SFIC

Uneconomic holding is one of the causes of low productivity of Agriculture categorised
under causes.

(1) General (2) Fragmentation due to heridity right
(3) Technical (4) Non technical

HeaAT HIATHIE! AT / SPACE FOR ROUGH WORK
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197, WHATHA] ULIG G AThSar] Tied H0arEdt 1949 Hed o Gitd Joel St ?

(1) U e i (2) ugr A

, (3 ke S wimh (4) AT FroRAE S
Which committee was appointed in 1949 to collect statistics of Indian National Income ?
(1) National Income committee (2) National Agricultural committee

(3) Conclusion Income committee (4} None of above

198, @ WO SfaanR uiieus' sifter ™[ veE.
(1) JHdTw (2) ey g (3) WY (4) et
is a person who works as an officer under Child Marriage Prevention Act in
rural area.
(1) Gramsevak (2) Polis patil (3) Sarpanch (4) Talathi
199. GegreA] T Ugdiat M fEmitee ggdl fasfaa swoam &1 o1 ST,
(1) T HE @) e fatrm
(3) <= fafsm (4) AR HeaA
] is credited for developing the current latin based system called the binomial
nomenclature.
(1) Ruther Ford (2) Carlous Linnaeus
(3) Jon Liebig 4y K.R. Mendel
200. % 0 T T 9 Wiy SAfHvEEE! =1 I HIA
() ifssm wEke (2) wifesm 97 - FEAE
(3) Hfemem wEhe (4) fais= =i
is used in the preparation of cakes and bread to make them light and spongy.
(1) Sodium carbonate (2) Sodium bicarbonate
(3) Calcium carbonate (4) Bleaching powder
-00o0-

oAl SHIMTATE AT / SPACE FOR ROUGH WORK

P.T.O.



48 TNH

HEAT — (451 &1 1R....)
@ wegiasns fafea waen fafire I = F0 (TF o%) S, TEgRasafafa wefFea @

©)
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